o

o(d dxy) (cmil\

Ratio

o(d o) (rad)

[
<
N

|
=

o(d dz) (cm)

-

S
.
|

1072F

Ratig:

O 1 N W N
IIIIIIIIIIIIIIIIIII

-3 -2 -1 0 1 2 3 -3 -2 -1 0 1 2 3
—=— DQMstep3_SoftQCD_CKF mline)
—e— DQMstep3_SoftQCD_default

—— DQMstep3_SoftQCD_defaultNEWT2

~ M
'_ .
o .
=~ .
— .
Q :
o . :
N~~~ N N N
© : :
: L :
RIS S EE oo e
S T ERCTS SEEPEEPREY ZPPEPRPRERS SRRRPRS
: * |
-4»5
| S RN U SO A RN SR
10 | I R R L . .
et [ R A A PP -
0_3iIIII.IIII.IIII.IIII.IIII.III-‘.-I. O iIIII 11 1 1 1 1 0 1 11 1 1 11 1 1 11 1 1
l:’ """"""""""""""""""""""""""""""""""" b = _E
[ 6:5 I b
0.5 T
ol i ol

=3 2 1 0 1 2 3 =3 2 1 0 1 2 3
TP @ (PCA to beamline) TP @ (PCA to beamline)



	Contents
	Page 1


